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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Time : 2 Hours
Part — 11 Cool-off time : 15 Minutes
COMPUTER SCIENCE & INFORMATION TECHNOLOGY

Maximum : 60 Scores

/ General Instructions to Candidates : \
® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® (Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any five questions from 1 to 9. Each question carries 1 score. B x1=95)
1. Dynamic memory allocation is done using operator.

(a) alloc (b) new

(c) malloc (d) dalloc

2. A subclass is also called
(a) derived class (b) super class
(c) Dbase class (d) parent class

3. Which of the following function moves the get pointer to a specified location ?

(a) tellg() (b) tellp()
(c) seekg() (d) seekp()

4.  Which of the following software port that have the Simple Mail Transfer Protocol
(SMTP) service ?

(a) 22 (b) 25
(c) 30 (d 110

5. Storing of same data at multiple locations or duplication of data is known as
(a) consistency (b) integrity
(c) security (d) redundancy

6.  Which of the following is a DML command in MySQL ?
(a) CREATE (b) DROP
(¢) INSERT (d) REVOKE

7. Which of the following tag in HTML is a container tag
(a) <BODY> (b) <BR>
(c) <HR> (d) <IMG>

8. The result of a query can be sorted in ascending or descending order using

clause in MySQL.
(a) where (b) group by
(c) order by (d) like

9.  In Python which function is used to read a value from the keyboard ?
(a) read () (b) scan f()

(c) input () (d) get()
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PART -1

A, 1 @@ 9 Q190 21033BSE08 a@o@@Iee 5 af)IROTIM DOMOHAY)®)d.
1 ¢mpod all@o. (5x1=5)

1. 9ewmodle;, 6200l GRERINEHNHUM  6alQIM  DalCWIUTENIN  B0a|c0gOIeM

(a) allo (b) new
(c) malloc (d) dalloc
2. &0y aveni goalom allglgan aeqoo) Gald
(a) derived class (b) super class
(c) base class (d) parent class

3. 80)60ng calddaolom B0} (IE®id OaldTUlaMICRIY Ml ©alQIaN aNoeBaHMOIET)

(a) tellg() (b) tellp()
(c) seekg() (d)  seekp()

4. ©0% alo@)MAIYIT @ CIVaNg OAIWA Caldd306em Simple Mail Transfer

Protocol (SMTP) service ?
(a) 22 (b) 25
(c) 80 (d 110

5. 80} cWwQew alel qUORIEBFEIGE  CIYOB  ©aIQYAN®  @RLOOID  AIQONS
Wwyalleanauom @Ol |SIaNE
(a) consistency (b) integrity
(c) security (d) redundancy

6. ©96¢ alo@)Malicd MySQL ee1 DML 2008 ag@ ?

(a) CREATE (b) DROP
(c) INSERT (d) REVOKE
7. 98¢ alo@)maieiad HTML &gl af@) sonoem &eenema@ sou ?
(a) <BODY> (b) <BR>
(c) <HR> (d) <IMG>

8. MySQL - @ &0) &I0lwes Alauudglom @ryGRla0em (GHAGMIGLId GRAICOIa06M

(GAATHIGEIO GTVIBT ©12 1M OV DalCIUIIaN)
(a) where (b) group by
(c) order by (d) like

9. 0ea®eMImd3 &l cenIodWI@3 Wl B30} APl Sl algM@IM Oalc@OUTlen)am

aNo6BaHMOEM.
(a) read () (b) scan f()
(c) input () (d) get()
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B. Answer all questions from 10 to 13. Each carries 1 score. @4x1=4)

10. is used for referring the server computer that hosts web sites.
(a) Web Server (b) DNS Server
(c) Database Server (d) ftp Server

11. The command in MySQL to view the structure of a table is
(a) CREATE (b) VIEW

(c) SELECT (d) DESCRIBE

12.  Which of the following is not an aggregate function in MySQL ?

(a) SUM() (b) AVERAGE()
(c) COUNT() (d MAX(
13. is the method of computing in which large problems are divided into many

small problems which are distributed to many computers.

(a) Network computing (b) Distributed computing
(c) Multiple computing (d) Cloud computing
PART - 11
A. Answer any two questions from 14 to 17. Each carries 2 scores. 2x2=4)

14. Explain new and delete operators in C++.

15. Define data abstraction in OOP.

16. Write any two differences between serial and parallel computing.

17. Explain e-Governance.
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B. 10 2)®@3 13 0160 oBEI0 GaldBiBW0AN) 2OMONAY®)H. 1 capod alloo.

4x1=4)
10.  ©aIeni 96TV Ca00qY 2l HAVBAIB HoalRSOlOM 2 @ROIWOQ]S)aM).
(a) Web Server (b) DNS Server
(c) Database Server (d) ftp Server

11. &0} esenilglond (pa»al@ »osmym@lmss MySQL @»a0agoem’
(a) CREATE (b) VIEW
(¢) SELECT (d) DESCRIBE

12. MySQL ee1 @roUileng aNosB3aU8 GREIOGIN® aB® ?
(a) SUM() (b) AVERAGE()

(c) COUNT() d) MAX()

13. el ¢aomiemeg  GREM@o 0110l @WEBEIEs  @Ulla @RAI  alel

Hoal50)dgleri awl@dlmniysg oaignam dlailow af)am} alo@aM).
(a) Network computing (b) Distributed computing
(c) Multiple computing (d) Cloud computing

PART - 11

A 14 2)@@8 17 190 2103408 ago®sslene 2 af)INamim 2OMOHAH;®)D.

2 capod afloo. 2x2=4)

14.  C++ el new, delete af)a7fl 30a|c0Q0)30889)01a] QlVdElBEl99)D.
15. OOP ee1 awogd @omi@podauad aldg)a lgnd.

16. aVldl@@3, «l0ERI@  @oallSlot) @OAIENSS oGO@®BIILI QM8 QIYMOAVEBUD

) ) ®)B>.

17, en-»a1@emadav aflvodledlQid.

SY-52 5 P.T.O.



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any two questions from 18 to 20. Each carries 2 scores.

Explain relational data model.

What is meant by Cyber laws ?

What is memory leak ?

PART - 111

Answer any three questions from 21 to 24. Each carries 3 scores.

Distinguish between static and dynamic memory allocation in C++.

Define the following terms in DBMS.
(a) attribute
(b) degree

(c) cardinality

List MySQL data types.

List three services in cloud computing.
Answer any two questions from 25 to 27. Each carries 3 scores.

Write a C++ program to read and display the content of a file.

(a) What is data independence ?

(b) List the types of data independence.

List any three Cyber Crimes against property or Government.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

18 2)®@8 20 160 62103568 ago®BIENe 2 afINTTIM DODMOOHAH;®)D>.
2 capod alloo. 2x2=4)

dleelayem@d aogo eavdabeilamaldl allvodlaciid.
SOALENUA GEIOGHOBOANINE BRAMONIBNANO®T) ?

020071 21198 af)NI@3 af)a® ?

PART - I1I

21 )@@ 24 Q100 Ga1BYEBSEIEE aBEOBILNS 3 AfIPOTIM DTNODAPI®)b.
3 capod afloo. B3x3=9)

C++ quodls, #6awmoale, ©22n06] GRERINECENHUMHUB @IGE BOODAL0 Ha Q).

DBMS 6e1 306¢ a10@)aM 1360303 M13g]a 1)

(a) attribute
(b) degree
(c) cardinality

MySQL 21 woqgo 6eSa )08 af))@)db.

VW Goalfslerlont 2)an ALAANaIVIBUB af)9)®)d.

25 my@@3 27 a0 ¢210340BEla3 agomsslens 2 af)aamim’ 2OMOOA; ).
3 capod afloo. 2x3=06)

80) anelor! &amead dlaw’ 641’ @GR AWV falgiM@IMes C+ enIowdo
af) DB,

(a)  aWIgo ENAALIOAIAZABAV ag)aMNIE3 nBAD ?

(b) allalw ®eo aWwogo HMAWIOAIGMBAVY®UB ai3al ?

¢(a19a]3sle@o 1aIMIOAMFIEMO )@V ABO@EILN AN HOAVENIB OEHHDIHUB
) YO
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28.

29.

30.

31.

32.

33.

PART -1V

Answer any three questions from 28 to 31. Each carries 4 scores. B x4=12)

(a) What is a stream ?

(b) What are the different stream classes in C++ ?

Explain the components of DBMS.

List any four e-learning tools.

List any four applications of computational intelligence.

Answer any one question from 32 to 33. Carries 4 scores. (1x4=4)

Distinguish between server side scripts and client side scripts.

(a) Define a class student with the following details
Data Members :
regno
name
marks
Member functions :
read()
display()

(b) Define the member functions read() function to accept details from the keyboard

and display() function to display details of student on the screen.
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28.

29.

30.

31.

32.

33.

PART -1V
28 m)@@3 31 QIO @21034BEIG aBo®Brlene 3 af)aMEMIM DOMOHAY) ).
4 capod afloo. Bx4=12)
(@) &0 (Mo af)aMO@3 ag)(®) ?

(b) C++oelallaiw @ilo oaV)BHUB agal ?

DBMS ee1 aflallw &oealosemdiaegaldl allaidig)e.

aBO®EsIEI0 MOEI §D-GEIMIlow) S)BIBHUB af)91®))d.

HoalE5aHeM@3 sDMeNRBIVIOL! aBO®EIRIe MO @R ICHNHMIRHUB af)9)®)M.

32, 33 ¢a1034eBg1@8 ago®s1EN0 S60ANATNM QOMOOALY®)d:. 4 GIPOA.
A1x4=4)

qdald eoTvw (MYlaiqidsle 903 eaavWw (MlaiQ)dale @ailenss aly®§Pavo

af)aoy ?

(a) ©26¢ al0@)M alla1esBUd @83 student af)aM GOV WIOOAND 62 1Q))d .
QWOQO HAEMIYAV :
regno
name
marks
ONMIB aNoBaHABAV :
read()
display() 2)
(b) &5l eeuodalad mlanye dlaw” eaigmm AlwE@d read() ag)IM aNoeBaHM)o

I@d avlaveg) ea1gpam allworsiles display() anoeBarm)o Ml@Q)a ). )
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PART -V

Answer any two questions from 34 to 36. Each carries 6 scores. 2x6=12)

34. Explain any six basic concepts of Object Oriented Programming (OOP).

35. Design a webpage about India with a paragraph containing two or three sentences and
using any four formatting tags. Also include a map or image of India.

36. (a) List the data types in Python.
(b) Explain the logical operators in Python.
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PART -V

34 2)®@8 36 Q190 210348 ABOOBILNC 2 afEANATIM DOMOOAYI®)c>.
6 capod afloeo. 2x6=12)

34, aming dlogw  cepwodldleer  (OOP) ago@mlen. @oo  cmiavle,
CHIMBAVaIBHUB AlaIBI.

35. padawie@algl 0GB MEMO QANGEIBBB  AIMMWIBOIE RO®SILl MmoLl
€andd20glot) SOMBUWB DalcOWla] B0} QNI GalL? ®YO0IIN . @RMEIEI
EHABALIWIAS B0) AOCa |0 2 il(GEAD DUBO|S)OD)H.

36. (a) ©BaI®ETIAL!I WIQINOSAIDHUB af)9) D).

(b)  ooaimelerl ceoedlunas 630a]|c0g0)He8 a|dl AllaICID.
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